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Exam A

QUESTION 1
A system panic due to an "L2 watchdog timeout hard reset" error occurred. You have found a FIFO message in the SP log.
Which FIFO message Is useful for Investigating this Issue?

A. before NMI BBSP:C=00 L=00 FIFO: F3F2F1FO5B20008020EFE3C0C2346799AB.BIOS exit BBSP:C=2F L=20 FIFO: 2C8C9C42446187 811
B. before Reset BBSP:C=00 L=00 FIFO:
C. ONTAP Shutdown BBSP:C=00 L=2F FIFO:

Correct Answer: B

Section:

QUESTION 2

An administrator receives the following error message:

HMon Dog 23 QR:E0:36 EST [nodeh: wal '_:::-cn::-::l:'lll'H: wall.cprtoolongsarror] @ Agyregata
fas 01 DATA ACGE expesrienced a long 2D,

What are two causes for this error? (Choose two.)

There Is excessive SSD load causing the wear leveling to become unbalanced.
A disk is falling.
There is excessive SATA HDD load.

An SSD disk is performing garbage collection to create a dense data layout.

o0 ® >

Correct Answer: A, C
Section:

QUESTION 3

After expanding a two-node AFF A300 cluster with two AFF A700 nodes, you observe latencies when data is accessed indirectly. The system node run -node -command netstat command shows retransmits and packet drops
on the LIFs.

The AFF A700 nodes with 40 Gbps and the AFF A300 connect with 10 Gbps to the cluster interconnect. You are using Cisco Nexus 3132Q cluster interconnect switches. You just updated to ONTAP 9.8 software.

In this scenario, what is causing this problem?

The 10 Gbps to 10 Gbps cluster Interconnect is creating a speed mismatch.
AFF A300 and AFF A700 node mixing Is not supported in ONTAP 9.8 software.
The AFF A300 Is using an adapter card for the cluster Interconnect, but only onboard ports are supported.

o0 ®wp

There is an NXOS firmware mismatch, verify in the Interoperability Matrix (1MT)J for a supported version.

Correct Answer: A
Section:

QUESTION 4
Which two throughput elements are controlled by host applications? (Choose two.)

A. operation size
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B. lJitter
C. concurrency
D. latency

Correct Answer: B, D

Section:

QUESTION 5

A 2-node cluster hosts only NAS data UFs. All nodes lose access to the cluster network.
HOTICE token.oode.out.of rquorum: Rll token seferesnoces from node
{ID — EaZT453E-adbE-11n6-9064-9daa7fGndbbl) are dropped becsuse the node went out of guorum.

ctran.scn.rceceived: CTRAN has= received an ACN with walue= OxODC00D0Z.
gmn. 88 . Jrp

1ate

OERIS amm . ach . event . reovd: hostoame="rm223 0=-cn-02%,

avcas 1d="0x0", clam 29="1001", attr bs="0DxB"

DERUS 1mm.n:ﬁ.nrﬂt-.rrnrd: hostname="m2220-cn-01",

avcam 1d="0x0%, clam 28="1000";, attribe="0x=a"

TWFTMEETIEMFT 31am.¢E4&Lﬂ.py?Tnnr.J:n: : CLAM on node (TD=1000)

apdated failover state of partoer (IDF1001) to nohb.

cinZ 22 0-on—01 DEBUZ clam.quorum.epoch: CLAM sat the quorum apoch

on locsl nads o 3BE.

INFORMATICNAL clam.received.quorum: DIocal node recelived a quorum update from Cluastear anode
{name=emi220-ca-01, I0=10007 .

EMERGERCYE clam.pode.oog: Node (Dame=cRI@iC—cn—0Z, ID-1U01} iz oobk of “CLAM guoziam™
{raapon=haarthbeat failural .

EMF RGENCY callhoss.clam. node.oogt Call home for EODE{S) OOT OF CLUSTER QUORIM,
DEBRTS clam.nodg.avail.change: The availability atatus of nods

{name=cm2IZ0-cn-02, I10=1001) changed from Awvmilabhle to Unavailable.

Referring to the exhibit, which statement is correct?

Both nodes race to takeover the other, one node will takeover the other node.
No takeover event will occur and NAS data UFs will not be accessible.
All nodes in the cluster reset and NAS data UFs are not accessible after reboot.

OO0 >

NAS data UFs are accessible on only the node that has Epsilon.

Correct Answer: C
Section:

QUESTION 6
Your customer noticed in NetApp Active IQ that their NetApp Cloud Volumes ONTAP for Azure HA solution is no longer sending AutoSupport messages over HTTPS. A support ticket has been opened to find out why. No

changes have been made to the Cloud Volumes ONTAP for Azure HA environment.
In this scenario, which two autosupport command parameters should be used to validate that AutoSupport Is working properly? {Choose two.)

-mail-hosts

A

B. -transport
C. -proxy-url
D

-to

Correct Answer: A, C
Section:

QUESTION 7
Which two statements about NetApp Cloud Volumes ONTAP licenses ate true? (Choose two.)

A. Having an Essentials package enables you to convert to another licensing option.
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B. Capacity-based license packages support only single-node configurations.
C. BYOL licenses are purchased directly from NetApp.
D. AWS Marketplace contracts cannot be mixed with BYOL.

Correct Answer: B, C
Section:

QUESTION 8
Your customer complains that u host will constantly report losing a connection to the iSCSI target and then report that the session was reestablished.

08 1E:18:26 COT [PROD-ETAP-01: ;5vti_;::=ip_th:ead: itwcsi.noticeznotice]s ISSSI:
from initiator igmn.19%1-05.com.microsofciprd-app—01.necapp.com at IP adde 172.20.10.50
1§:18:Z6 COT [PROD~-ETRAP-D1:

Tue. Sep He=w
seasicn
Tu= H=p 04

gasglon request Erom initister ign.l391-05.com.microscic:prd-app-0l.métapp.com, a eeszion from
this initiatsr alresdy exists.

Tus Sep 09 16:13302 CDT [PED-NETAP-01:
seasion from initiator ign.1991-05

iswti i=csip thread: iscai.warning:warning]: 18C81: New

igwti lscsip thread: iscsi.noticesnotice]: TSCST: Hew
microspfrtrprd-app-01.netapp.com at IF adde 10.10.20.60

Tue Bep D4 16:30:93 COT [PRD-NTLP-DI 'uwti_;srsip_tntfnd: iscsi.warningiwarning]: ISCBI: New
pospion regquest from initiator igm.1991-05.com.microsoft:prd-app-01.netapp.com, a sssaion from
this fpnitiator alreedy exists.

Tue Jap 04 16:20:11 COT [PRO-WTAP-01: iewti ivcaip thread: iecai.motice:motical: I8CE Haw

sessisn from inditiator igm.1%91-
Tue Jep 04 16:30:11 COT [PRO-ETRP-01:
session tequeat from
thie tnitiator alresdy exists.

Toms Sep 04 16:20:45 COT [PRO-RTAP-01: _iscaip thread: iscel.notice:motico]: Maw
seasion from inltiator Aiqmn.1551l-05.com.micresoftipod-app~0l.n=tapp.com at IF adde 172.30.10.80

. microsoft iprd-app- 0l .netapp_com at IF adde 10.10.20.€0
iswti iscsip thread: iscsi.wacningiwarning): ISC3I: New
initiator iqn.1991-95.com. microncft:prd-app-01.netapp.=om, a ssasion from

iswti I8C3T:

As shown in the exhibit, what is a cause of this flapping?

A host with an IP address of 172.20.10.80 and a second host with an IP address of 10.10.20.60 have the same IQN.

A host with an IP address of 172.20.10.80 and a second host with an IP address of 10.10.20.60 are in different initiator groups.
A host with an IP address of 172.20.10.80 and a second host with an IP address of 10.10.20.60 are"accessing the'same, LUN:

A host with an IP address of 172.20.10.80 and a second IP address of 10.10.20.60 is accessing different LUNSs.

OO0 >

Correct Answer: C

Section:

QUESTION 9

A storage administrator reports that a monitoring toot is reporting that the storage controller reads between 90% to 93% CPU use. You run the sysstat -m command against the node in question.
ANYL1+ ANYZt+ ANYI+ ANYSE+ RNYS+~ ANYEY ANY T+ ANYS+ AWE CPOD CEUL CPUZ CFU3 CPUS CPUS CPUE CPUT

Mwk Excl Wwk Lg Mwk Exmpt Protocol Storage Raid Raid Ex Xor Ex Target Rahuna WAFL _Ex (Kahu)

HAFL MPClean 88 Fxempt Exempt 334N Fx Intx Hoot Opads cp

9% B7% B3% 55% 52% T4% ELh g6% S5Z% 62% 54% 54% 54% 53% 53% S54% 53% 1% 11% 293% 0% i% 1% 15% 1% 0% % 145%
[ E2%) i% 0% aTe 0% 13% 2% A4DZEE  25%

55% 5% Ed% % 35% 5% E3% 46% S4% E4% DEW S556% S56% 55% 56% He%k 5E% 1% 1% A25% B% &% 0% 14% 1% 0% 2% 165%
I 75%) 1% 0% 37§ 0% 145 T% 44263 25%

LOD% 3% BER 13 56% 50% T2% 44% 56% S53% 57 5T% 57% S58% 5% 57% 3T 1% 0% 307% [ | 5% 0% 15% kg iyl 2% 155%
{ TER] T& 0% 41% o 13§ 5% 39012 445

55% B9% B5% TO% 55% T5% Ti8 52% S55% €T% 5% 56% 5T S56% 56% 5% S5EW 1% 1% Z55% 0% 5% % 16% 2% (1] % 233%
71w o% % 394 0% 3% 22% 40034 3ITH

95% 29% BE% Ti% 56% 30% T4% 47% 574 50% 55% 558 55%. 55% 555 558 55 1% D% 256% 0% &% 0% 2Ll% 4% 0% 2% 204%
L. T%) &% %  43% 0% 13% 5% 35373 0%

BO% A5% 4% 59% 53% TSR 147 55% S53% 65% 54% S54% S4% S48 S4% B4R 54% 1% a% ATLE 0% E% 1% 15% 3 0% 2% 165%
{ TE%) ki oy 3TH 0% 14% 11% 41551 104

B9% A% Bak T2% 35% % 9% 4% 39% 35 39% 39% E0% S%% 39% &0% &0% 1% 1% 2354% L A% % 23% 1% 0% kL) 231%
| T7%) 4% oy 44% 0% I2% 11% 15750 9S54

5% a5%% BS54 0% itk 15% 0% 53% 35% 69% S6% 3S6% Se% 35% 53% 56k SE% 1% i% 233% 0% % % 15% 1% 0% 3% 201%
| T&%) 1% 0% 43% 0% 13% 5% . I5THR aA0%

55% 5% E4% 259% 55% s 0% 52% 54% 67% A5% 56% 8354% 355% S6% Se% SON 1% 1% 275% 0% % % 2i% 2% 0% J% 155%
[ TTA) % 0% 47% % 14% % 36913 47%

Referring to the exhibit, which statement is correct?

A. The customer should be advised to exclude certain workflows to reduce use.
B. High network exempt use could be a problem.
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C. You should immediately investigate further by gathering perfstat data and opening a support case.
D. The CPU Is not a first-order monitoring metric for ONTAP.

Correct Answer: C
Section:

QUESTION 10
You have a 4-node NetApp ONTAP 9.8 cluster with an AFF A400 HA pair and a FAS8300 HA pair with 16 TB NL-SAS drives. You are asked to automatically tier 150 TB of Snapshot copy data from the AFF A400 aggregates to the

FAS8300.
In this scenario, which ONTAP license must be added to the cluster to accomplish this task?

S3 license

VE license

TPM license
FabricPool license

o0 ®p

Correct Answer: C
Section:

QUESTION 11

Your customer Informs you about SnapMlrror problems after upgrading NetApp ONTAP software to a newer version. After investigating the event logs and the SnapMirror history, you see information about delayed updates
of the

SnapMirror relationships.

How would your customer prevent such problems in the future?

Quiesce the SnapMirror relationships before upgrading the ONTAP software.
Verify that the cabling of the hardware port that Is responsible for SnapMirror transfers Is correct.
Modify the schedules of the SnapMirror relationships after upgrading the ONTAP software.

o0 ® >

Delete the SnapMirror relationships and create them new after upgrading the ONTAP software.

Correct Answer: B
Section:

QUESTION 12

A customer enabled NFSv4.0 on an SVM and changed the client mount from NFSv3 to NFSv4.
Afterwards, the customer found that the directory owner was changed from root to nobody.
In this scenario, which statement is true?

The customer did not configure name services on the SVM.
The clients must be restarted to start using NFSv4.
The export policy is not configured properly.

o0 ® >

The ID mapping domains do not match between the client and server.

Correct Answer: C
Section:

QUESTION 13
You have a NetApp ONTAP cluster consisting of four NetApp FAS8200 controllers with two NetApp CN1610 cluster switches running ONIAP 9.8 software. You are receiving several alert messages stating that the cluster
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network has degraded. After troubleshooting, you determine that the errors are being generated from Node 2, interface eOb.
In this scenario, what should you do first to solve this problem?

Replace the Twinax cable between Node 2, Interface eOb. and the NetApp CN1610 switch.

Replace both NetApp CN1610 switches.

A

B. Replace the motherboard on Node 2.

C

D. Replace the NetApp CN1610 switch that connects to Node 2, interface eOb.

Correct Answer: B
Section:

QUESTION 14
Your customer has mounted an NFS SVM from a Linux client unci performance is very poor. The customer is certain that they have jumbo frames enabled. They have verified an MTU of 9000 on both the Linux client and the
broadcast domain on the NetApp ONTAP 9.8 cluster.

dlusterl:;*¥ petworck Interface show -vzeoyer svol oluastesl

]_-f"l_l':i-d".-a-'_ ftatus Network CuEYent CarEant Ia
Vssrver Interfac= Admin/Oper Addires=/Mas=k Mode Borct Hcmmee
syml slusterl
cify 0L upfun 192.168.0.131 /24 et Lrus
:'.T'Fn:ili:! apfup 1a2. 158 = Trae
jumbo G1 upfup 1592.1 elig trae
jumbmjﬁ2 upfup 1935168 elg trua
mgmt upf up 153. =0c T
5 entries swera displayed.
glustarl::*> matwork port broadeast-domain show —broadeast—domain Jumbo
IFapace Sroadcast Update
HName Doma:n Name MTO Eort List dratu= Detss 1
Oefault Jumbc 3000
cluateri-01: comp leata
clust=rl-0l=sldg complete
SRRV 2ialf e late
clusterl-02 el complete

Referring to the exhibit, which ONTAP command will help isolate a possible MTU mismatch?

netwark ping —11f jumbe 01 —-vegerver evml clusterl -destipation 1%2.168.0.210 -
disal low-Tragmantation fales —-packet-size 1000

network:ping =11f Jumbe 01 -ygerver gyml cingterl -destipartion 182 16H.-0-210
disallow-fragmentation true -packet-size 9000

metwozk ping —-1if jumbo 0l -vserver syml cliusterl -destinacicn 15Z.168.0.230 -
disallow-fragmentation trus —packet-size 1000

network ping —1if jumbo 01 —veerver svml clusterl -destination 1%2.368.0.210 -

digzllow-fragmantation trus —packet—-sise 5000

Correct Answer: B
Section:

QUESTION 15

You have a customer complaining of long build times from their NetApp ONTAP-based datastores.

They provided you packet traces from the controller and client. Analysis of these traces shows an average service response time of 1 ms. QoS output confirms the same. The client traces are reporting an average of 15 ms in
the same time period.

In this situation, what would be your next step?
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The cluster is responding slowly and requires further investigation using performance archives.
The client that reports high latency should be investigated.
The cluster interconnects should be investigated.

o 0N >

A sync core should be triggered.

Correct Answer: B
Section:

QUESTION 16
Your customer wants to access a LUN on a FAS 8300 system from a VMware ESXi server through the FC protocol. They already created a new SVM, volume. LUN, and igroup for this purpose. The customer reports that the

server's FC HBA port Is online, but the LUN does not show up.

ogll:i¥ veerver fop shew -veascver JIVHIL
Toorver Hama: SVHI
Iarget Nam 20:04:001a0368 :aT2ca:l8
Rmin: stratlve Status: up
ellz:> lun show —-veerver SVHL
Taerver Path geare Bt Type g re
sl fvol/easx/datastsore.lun omiine mapped e e SA0GE
allz:> lun Lgroup show —vaerver SVHI
3EITELD [group Protocol O pe

VM eaxISETET fop TONATE
cllr:» lun mapping show -vascver 3V

Vasrvar Pat Igroup LN ID PFrotoccol
STHE fvol/fesxfdatastors. lufk STRSSITEL 0 fep
gllz:¥ vemcver Ecp Lnatiator show —vyeecves SWML

This table ip currently ampty.

Referring to the exhibit, what is the reason for this problem?

The FC service has not been configured on the SVM.
The zoning on the FC switches Is Incorrect.

The LUN Is not mapped to the correct SCSI ID.

The esxserver igroup contains incorrect IQNs.

o0 ® >

Correct Answer: C
Section:

QUESTION 17
You recently discovered the error message shown below in your ONTAP logs.

[walfl.incons. dsspdata. . vyol:ierrox] s WAFL poconsistent: volums Ny_jﬂhu_ﬂni

What should be your first action to correct this Issue?

Power cycle all the disk storage shelves that contain drives of the aggregate with the my_data_vol volume.
Determine the root cause behind the inconsistency before attempting any recovery procedure.
Use the storage takeover command on the storage controller that contains my_data_vol.

o0 ® >

Use the wafliron command against my_data_vol to solve the inconsistency on the volume.

Correct Answer: A
Section:
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QUESTION 18
When an administrator tries to create a share for an existing volume named voll, the process fails with an error.

olusterl: ;> vasrver cifs shars create -vserver svml -share-name woll -

pazh /voll Error:
command failed: The specifi=d path "/wvoll™ dos=s oot exist in the nas=space be=longing to Vasrver
"avmi®,
clusterl:{> veescver cifs shace show
Vaerver Share Fath Properties Comment ACL
avml admins ! browpable - =
=+tml =5 £ oplock=s BUILTIN\Administrators
Full Control
bBrowsables
changsnoblly

shaw-previous-veralans

=vml ipct f browsable -~

] sntries were displayed.

glusterli:>» vearver cifs shaow

Ssrver Status Domain/Hockgooup Authenticatlios
TaarTer Wame Admin Name atyle
awml aval up DEMO domain

clusterlii*> volume show =veervaar sval =-volusme woll

Vescve:r Name: swvml
Volume Namar woll
Aggregate Nazwe: clustecl 01_33D 1
List of Aggregates for FlexGroup Constituents: clusterl 01_S8T 1
Encryption Type: nooe
Liar of ¥Wodes Bosting the Voluse: clustezl-01
Volume Size: 20MB
Hame Ozdinal: base
Yoleme Data Set ID: 1028
VTolu=s Master Data fet ID: J1EZITEHLEO
Volume 2cate: online
VTolume Scyle: flax
Extended Tolume Style: flaxvol
rlaxtache Endpoint Typa: nona u m S
Is Clustez-Mode Volume: truse
Ia Conatituont Volums: falsa
=t Policy: defaule
Tear ID: —
Gzreup 10: -
Security Styler -
ONIX Pormisoions: ============

Juncticon Pathr -
Junztion Path Source: -
Juoction Acktive: —
Junaocion Parent Voluma: —
Jonetioan Acriver Trus
Jupction Parent Volums: avml root
Vaprver Roat Valume: falne
Sommantc
Available Siza: 16.76MB
f'ilﬂ:]rst‘:n Aipe: 208
Total User-Visible Size: 198
Uaad #S3ze:; 24455
Teed Percentage: 1%
volume Tiering Pollcy: nons
Voluss Tiering Minimee Cooling Days: -
Performance Tier Inactive User Data: —
Foxformange Tiecr Inactive User Data Porcont: -

Referring to the exhibit, what Is the reason for the error?

The volume must have a type of DP.
The volume has not been mounted.
The CIFS service is not authenticating properly with the domain controller.

o0 ® >

The CIFS service is not in workgroup mode.

Correct Answer: B

IT Certification Exams - Questions & Answers | Vdumps.com
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Section:

QUESTION 19
The motherboard of Node-01 is being replaced. To perform this task, a takeover was Initiated from Node-02. Node-02 panics showing the string below.
PANIC; Permanent errors on all HA mailbox disks (while marshalling header) in SKprocess fnmbx_instanceWorker on release 9.5P8 (C) What has happened in this situation?

While in maintenance mode, the sldiag device show command was executed.
While in maintenance mode, the fcadmin device_map command was executed.
While in maintenance mode, the HA_config show command was executed.

o0 ® >

While in maintenance mode, the mailbox destroy local command was executed.

Correct Answer: B
Section:

QUESTION 20
You are deploying NetApp ONTAP Select. When trying to add VMware vCenter to the inventory, you receive the message shown below.
Credential authentication failed for x.x.x.x with: HostConnectionFailed In this scenario, how would you correct this problem?

Change the vCenter password.

Change the IP address of the ONTAP Select Deploy VM.
Change the gateway address of the ONTAP Select Deploy VM.
Change the IP address of the vCenter server.

o0 ®wp

Correct Answer: A
Section:

QUESTION 21

You created a new NetApp ONTAP FlexGroup volume spanning six nodes and 12 aggregates with a total size of 4 TB. You added millions of files to the FlexGroup volume with a flat directory structure totaling 2 TB, and you
receive an out of apace error message on your host.

What would cause this error?

The maximum number of volume constituents has been reached in the ONTAP software.
All constituent volumes are full.
The inode limit is exceeded in the ONTAP software.

The maxdirsize Is exceeded in the ONTAP software.

o0 ®p»

Correct Answer: C
Section:

QUESTION 22
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MCO~a:1Y metrocluster show

Configuration: 1P-fabric
Cluster HEry Mame Btrate
Loon MOT-A
Configuration State configured
Hoda ewitchover
RUSE Pailur= Domain auso-disabled
e T MCC-E
Configuration Btats configonred
Moda walting-for-switchback
ADSD Failure Domain duso-disabled

Referring to the exhibit, what do you need to do to return the MetroCluster to a normal state?

Enter the metroclustor switchback command on Site B.
Enter the metrocluster switchback command on Site A.
Enter the storage failover giveback command on Site B.

o0 ®p

Enter the storage failover giveback command on Site A.

Correct Answer: B
Section:

QUESTION 23
Your customer mentions that they have accidentally destroyed both root aggregates in their twonode cluster.
In this scenario, what are two actions that must be performed? (Choose two.)

Rejoin the second node to the re-created cluster.
Re-create the cluster from the local backup.
Install ONTAP from a USB device.

Re-create the cluster from the remote backup.

OO0 wp

Correct Answer: A, C
Section:

QUESTION 24
You have recently discovered that NetApp ONTAP Cloud Manager is not sending AutoSupport messages to NetApp.
In this scenario, what would solve this Issue?

Verify that your AWS credentials are correctly added to Cloud Manager.
Verify that your NetApp Support site credentials are correctly added to Cloud Manager.
Verify that your data LIFs allow traffic to mysupport .netapp.com on port 443.

o0 ® >

Verify that the inbound and outbound rules allow AutoSupport on port 80.

Correct Answer: C
Section:

QUESTION 25
Your customer calls you because one application is not able to access a NetApp ONTAP S3 bucket.
While reviewing the EMS log on the cluster, you see the following message:
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Thu Jun 24 15:02:47 <0400 [no 01l: karnel: nblade.css.s53.AccsssDenied:ercor]: Access
is denied foxr u anonymous user' (Vesarver 50}, from client IP 10.10.10.10 acoessing
"

= !
ragource 'Sfofflaad-target' .

The same credentials work in another application.
In this scenario, what would cause this problem?

The application is trying to log in as an anonymous user.
The application is using v2 signatures.
The application is using v4 signatures.

OO0 ®wp

The application is trying to access using the HTTP protocol.

Correct Answer: A
Section:

QUESTION 26
You Just used the CLI to create a NetApp ONTAP FlexGroup Volume on a NetApp Cloud Volumes ONTAP instance. After creation, you notice odd behavior in NetApp Cloud Manager.
In this scenario, what Is the reason for this behavior?

Cloud Volumes ONTAP does not support FlexGroup volumes.
The Capacity Management Mode within Cloud Manager should be set to Manual.
The Capacity Management Mode within Cloud Manager should be set to Automatic.

o0 ® >

Cloud Manager must be used to provision the FlexGroup volume.

Correct Answer: D
Section:

QUESTION 27
You have a 2-node NetApp FAS2750 switchless cluster with twenty-four 1.8 TB disks that is experiencing performance issues. Upon investigation, you discover several type B consistency points.

¢ sysstat -x output (ONTAP 91

£
)
g
k
I
i
k

113 Qarfa | Lopmd Tetal ¥t w=fa [ =K'} 3 BB Laga e -aths Tachs

=15 x

i 11 zead =Tiie cumd writm ag hzt 3 = TR B [ im 113 in >k

LIEL n in L. 40 1ALYE 43 ] Fed = : - Lo {Batey L L b L @ [ x)
1 b 3 a 7 003 STHEE L: € 2 I L LoD E ] L i

1% U a5 ! 22% 15T 214 235k k&) L= i 18 4% iiw o > N u i

4 '] 13 1T TeEe w5 » 29T [ 3w T Lo ] » € o 3

TTk W 355 LT: TaTan T M o : L 358 LGk 7 » e a }

i i J 1) ! i 3 1 I Cxirk 3 L i i

i i ! T 1o & [ i i

L4 i i 1 % G 2133 417§ 1 (e Lk 14 K 1]

= L] Ie? - 30 Iscem i g 1932 = & il % L=l ie [ o o

Ak 1] I3 o k| E1- 15 o 5% [- E o Tk Lo o [ o o

i% L e IE=ER LEH] T4 558 iy T ¥ B ]

iLh u 3| 5 (L whi 255 iis 5% Lk W ] L

i I i 1 2 ] b Led = Lo : ] & =] o o

L1 a L ] 7 TS 37 4 1 0a% T [ al o 2]

& * 5+ i L ] LI el et L [ 1] ]

Referring to the exhibit, which corrective action would address these consistency points?

Create additional data LIFs.

Convert the 2-node switchless cluster to a 2-node switched cluster.
Add an additional shelf of twenty-four 1.8 TB disks.

Replace the twenty-four 1.8 TB disks with twelve 4 TB disks.

o0 ® >

Correct Answer: C
Section:

QUESTION 28
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A customer's storage administrator Informs you about the deactivated Automatic Switchover (AUSO) feature on their MetroCluster IP environment.
What Information would you tell your customer in this scenario?

The AUSO feature cannot be activated due to a non-mirrored aggregate.
The AUSO feature is not available in Metrocluster IP installations by design.
A faulty link automatically deactivated the AUSO feature.

This is a configuration failure, you can activate that feature for the customer.

o0 ®p

Correct Answer: A
Section:

QUESTION 29

You have a new VMware vSphere cluster with ESXI 7.0U2 hosts. The hosts are connected to a 4-node AFF A400 NetApp ONTAP 9.8 cluster with FC LUNs. You have a requirement to identify and follow I/Os from each VM on
the shared FC LUN-backed datastores for troubleshooting purposes.

In this scenario, which VMware feature Is supported by ONTAP software to accomplish this task?

Network I/O Control (NIOC)
Virtual machine ID (VMID)
Storage |/O Control (SIOC)
vSphere Cluster Services (vCLS)

OO0 wp

Correct Answer: D
Section:

QUESTION 30

Your customer installed the shelf firmware for their NS224 shelf over a week ago, and the firmware has not upgraded on shelf 1 module B. The customer wants to know what the next steps would be to get the firmware
upgraded after verifying that the shelf firmware is indeed loaded onto the system.

Which step would you perform to complete the firmware upgrade?

Reseat the NSM100 module.
Reseat the disk in Bay 0.
Power cycle the shelf.
Reseat the PSU of the shelf.

o0 ® >

Correct Answer: C
Section:

QUESTION 31
After users start reporting the Inability to create new flies in a CIFS share, you find EMS events for wafl.dir.size.max logged for the volume of the SVM to which the share points.
In this scenario, which action should you take to solve this issue?

Delete unneeded files from the directory.
Move the volume to a different aggregate.
Increase the maximum number of files for the volume.

o0 ®wp

Increase the maximum directory size for the volume.

Correct Answer: C
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Section:

QUESTION 32
You have connection Issues from a Linux host to an AFF A400 FC LUN. You are asked by support to run the NetApp sanlun command to provide troubleshooting information.
Which NetApp software package must be installed on the host?

Virtual Storage Console
Inventory Collect Tool
Host Utilities package
SnapDrive for UNIX

o0 ® >

Correct Answer: C
Section:

QUESTION 33
After a normal power down of both nodes for building maintenance, Node01 of a 2-node cluster cannot be powered back up; however, all disk shelves are powered.
Which action should be performed to bring the cluster online and allow Node02 to serve data?

Recreate the cluster with the system configuration recovery cluster recreate -from node command.
Reboot the node With the system node reboot -node Node02 -bypass-optimization true command.
Perform a takeover with the storage failover takeover -ofnode Node01 -option force command.

o0 ®wp

Reinitialize the cluster with option 4a from the boot menu.

Correct Answer: A
Section:

QUESTION 34
You want to assign storage access to an NVMe protocol host.
Which three objects must be configured to accomplish this task? (Choose three.)

A. the NVMe subsystem

B. the NVMe broadcast domain
C. an NVMe LIF

D. the NVMe namespace

E. an NVMe LUN

Correct Answer: A, B, C
Section:

QUESTION 35
You receive the "Unable to connect to the management gateway server" error when trying to connect to a node management IP.
In this situation, how do you determine whether core dumps are generated for the mgwd user space process?

Log in to the nodeshell using the node console and collect the core dumps from the nodeshell.
Log in to the service processor and collect the core dumps from the service processor.
Log in to the clustershell using the node console and collect the core dumps from the clustershell.

OO0 >

Log in to the systemshell and collect core dumps from the systemshell.
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Correct Answer: B
Section:

QUESTION 36
You are troubleshooting a CIFS connection issue that is reported by some users. You decide to collect a packet trace.
In this scenario, after you generate the packet trace, where do you find the trace file?

. /packet_traces of the node hosting the LIF

. /etc/log/mlog/packet._traces Of all nodes

A
B. /etc/log/packet_traces of the node hosting the LIF
C
D. /volO/paclcet_traces of the CIFS SVM

Correct Answer: C
Section:

QUESTION 37
A customer with an FC MetroCluster configuration that is running NetApp ONTAP 9.8 software experienced a site outage and wants to know why the MetroClusler configuration did not switch over to the other site.
What are two reasons for this problem? (Choose two.)

There was a failed PSU in the switchover site.
The ISLs were down between the sites.
The site had unmirrored aggregates.

o n >

An ISL link was not operating at 16Gbps.

Correct Answer: A, C
Section:

QUESTION 38

gluste=cl:i¥ gos statistices volume lateacy show —veezwer svml -volume voll
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Min W RAM
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4.7imn 35, Ofhas 7.0 4 Ofaa 4 . Cdma me m= Ooun
oll 2140 42 .2dms G 00un 125.00us 504 . 00us 21 :11m= s [m.s 1.00us=
—-total- -
4.5Em= 2533 . 00u= 7 o B0 351 .00ua . 3dms Cm= O 11.00as
voll 32140 29, €Mma 80, 00us 162.00us 2.€1ms 26.82ms oms Ome 1.00us
toTal
2.33ms 225, 00uw B.00us 289, 00us 1.7 1me Jme = 13,00us
ol 32140 168.84ma &1.00un 114 . 00us 136.00un 18.30mn Gma O 1.00aa
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Referring to the exhibit, from which delay center is most of the latency for voll?

Disk
Network
Data
NVRAM
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Correct Answer: B
Section:
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QUESTION 39
Which two automation methods does NetApp ONTAP Select support? (Choose two.)

REST
Anslble
Docker
PHP

o0 ®p

Correct Answer: A, B
Section:

QUESTION 40

You ate connecting a Windows Server 2019 host to ISCSI LUNs on a 4-node AFF A250 cluster running NetApp ONIAP 9.8 software. The host is unable to connect to the target interface, and the ONTAP event log has the
message shown below.

ISCSI: network interface identifier disabled for use; incoming connection discarded In this scenario, what is the cause of this connection issue?

A. iSNS is not enabled on the storage virtual machine.

B. The WWPN was not added to the initiator group.

C. The iSCSI service is not enabled on the interface.

D. CHAP is not configured correctly for the specified initiator.

Correct Answer: B
Section:

QUESTION 41
A user mentions that their home drive, that Is an export within a volume, is no longer allowing them to save files. The drive reports that it Is full, even though It shows that minimal data is written to it.
Which statement would explain this behavior?

The mount is stale and uses a cached version of the volume.
Other users wrote to this user's home drive.
Other files within the volume are also owned by the user, exceeding the user quota.

o0 ® >

The client system needs to remount the export to show the proper space.

Correct Answer: C
Section:

QUESTION 42
You are optimizing your Cloud Volumes ONTAP. For interoperability and consolidation purposes, you need to know the storage limits.
In this scenario, which source should be reviewed?

A. NetApp Cloud Volumes ONTAP Release Notes
B. Hardware Universe

C. Interoperability Matrix Tool (IMT)

D. Cloud Central

Correct Answer: A
Section:
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QUESTION 43
You receive the panic message shown in the exhibit.

Oncorrectabls Hachine Check Errorc at CEUD. HO0 Ecror: 3TATUS<CxbLZ 0000430

{val,UnCor, Enahl s} ) - HWED Bre

{Val, OyecF, UnCor TN 3 : 0, Fen, Gen, E=n) ) ;

8, Seri

Channal
MlOFrr, Hank 2

BR-00-1131-008383381

In this scenario, which component should you troubleshoot first?

the PCl card in slot 3

the MetroCluster FC-VI card in slot 6
the memory module in slot 1

the CPU

OO0 ® P

Correct Answer: D
Section:

QUESTION 44

You are trying to deploy a Connector in the AWS cloud from NetApp Cloud Manager. The deployment fails and shows the message 'Insufficient permissions to deploy Cloud Connector". You have verified the AWS access key
and the AWS secret key.

In this scenario, what Is the reason that the deployment failed?

No AWS Marketplace subscription is associated with Cloud Manager.
The required Identity and Access Management (IAM) policies were not Installed.
The user lacks the permission to deploy within Cloud Manager.
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The Connector can be deployed only in AWS GovCloud (US).

Correct Answer: C
Section:

QUESTION 45

A customer reports that some of their client computers are unable to access a FlexGroup over CIFS.
This problem involves only their older Windows XP clients and some printers and scanners.

In this scenario, which statement Is correct?

. FlexGroup requires CIFS shares to be located in gtrees, which these clients do not support.

A
B. FlexGroup requires CIFS shares to use the Continuously Available Feature, which these clients do not support.
C. These systems use the SMQI protocol which Is an unsupported feature in FlexGroup

D

. These systems use Offloaded Data Transfer, which is an unsupported feature in FlexGroup.

Correct Answer: B
Section:

QUESTION 46

Your customer has deployed a two petabyte NetApp ONTAP FlexGroup volume across their 4-node ONIAP 9.8 cluster. They plan to store over three billion files. They want to prevent file 10 conflicts since files are placed into
the FlexGroup volume.

In this scenario, which two NFS SVM parameters should be enabled? (Choose two.)

A. -v3-64bit-identifiers
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B. -v4-fsid-change
C. -v3-fsid-change
D. -v4-64bit-idantifiers

Correct Answer: A, C

Section:
QUESTION 47
A customer calls you to troubleshoot a network issue. The customer wants to create a packet trace for all clients on the 192.168.9.0/24 subnet.
gll::> astworck interface show -v=scver CIFS
Liogical Status Network Carrent Currant Is
Vemrvar Intecfacs Admin’?;e: Addremm=Fllm=k Hode Bort Heome
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Truoe
tmc=ll up up 10:91.3.132/24 cllnl alkn—322
TIEex
i=csil wp i0.55.7.114/24 gllnl mla~45E
rue
=t o 10.92 . 6.200/1& cllnl =Zn=10063
trus
ninZ upfup 192.168:3.9/24 ellnl e2n—-100
Lruaes

gll: > npatwoark route show —vgervar CLFS

Vasry=r D=stination Sateway M=tric
g
0.0.0.050 L FEa. 1 18
D.0.D.0S8 0. 92.0.2 20
10.81.590,.140/32 232.160.3,252 20
TOE.TER.D. 0080 192 . TEE. 3,234 20

S mntrims wers displayed.

Referring to the exhibit, on which interface do you have to run the packet trace?

a0a-322
e2a-100
e2a-1092
a0a-456
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Correct Answer: C
Section:

QUESTION 48
Your customer complains about missing volume snapshot copies on a SnapMiIrror destination. While investigating this case, you notice an executed SnapMirror resync operation in the event logs of the system.
In this scenario, what Is the cause of this problem?

Newer Snapshot copies than the common snapshot that was chosen for resync were removed automatically at the destination.
The autodelete option removed Snapshot copies before the resync.
Snapshot copies were manually removed from the destination after the resync.
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NetApp ON TAP System Manager removed these snapshot copies due to a snapshot schedule.

Correct Answer: C
Section:
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